Montageanleitung fiir den mobilen Werkstattwagen
Katalognummer: 441006, 441007

ﬁ\
a.\%ﬂ(
:;//‘ ~_
&\'\
ﬁ\:\
o
e 2
e
‘\;x
e : )!%
& ~
" BF
, :;//J:/" h
d % Ll ‘|
v/’”fn ‘\\\‘@
5 e e /'; |_3
8 2l
., ./f -
5 &
Menge
1 Regal 3
2 Stahlprofile 4
3 Handhaben 1
4 Schwenkrad 2
5 Vollrad 2
6 Schraube M8x12 16
7 Mutter M8 16
8 Dichtung pr. 8 16
9 Schraube M6x10 48
10 Mutter M6 48
11 Dichtung pr. 6 48

B2B Partner s.r.o. Tel: 800 700 700 http://www.b2bpartner.cz



http://www.b2bpartner.cz/

